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Instructions for the candidates

| Attempt any four questions

Il All questions carry equal marks

Maximum Marks: 75

1l Answers may be written either in English or in Hindi; but the same medium should be used

throughout the paper.
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1. Explain and illustrate the following:

feAfo@a Fr AlGeIvT arEar HIf:

(@) Deductive and Inductive arguments

faTHsTTeHS T ETHATCHS e

(b) Sentence and Proposition

gTerd U4 dehdlad
(¢) Truth and Validity
Fegar ug JYyar
2. (a) Explain Traditional Square of Opposition.
IRFEIR a1 - TaRTET gaT T qredT HITIT|

(b) Do the following as directed:

6.25x3=18.75

6.25



fAefafed & fAdurar 3w fse: 2x6=12
(i) All scientists are philosophers. (give Subaltern)
T dafare grdfas §1 (3T Jars?)
(i) All journalists are pessimists. ( give Converse)
T TR feRmemarer g1 aRads sdsd)
(ili)  Some politicians are citizens. (give Obverse)
S Aot ARTRS 81 (Ffddce aasd)
(iv)  All cats are meat eaters. (give Contrapositive)
qefr fafeorar araery & (IfaaRade sdrsd)
(v) Some leaves are fragrant. (give Contradictory)
Fo T G Y ¥ (e aes)

(vi)  Some scientists are professors. (give Sub-contrary)
FS AT MBI &1 BRIEATdd Idrsd)
3. (a) Test the validity or invalidity of the following syllogistic moods using Six Rules of Syllogism:

fArafafaa =argied AT T aerdr/ 3rderar S ade g fFd & @gar & g2er
SEOIE L 6.25x2=12.5

(i) Some philosophers are mathematicians.

All scientists are mathematicians.
Therefore, some scientists are philosophers.

o aRifds o= &
gofy dafaes aiforas &
aa:gmaaﬁaareﬁa gl

(it) All angels are rational beings.
All men are rational beings.

Therefore, all men are angels.

ol dagd Taehreeiver qrof g1
T3t HoTsg Tadensiier wrof &



37 B AT gagg £
(b) Test the validity / invalidity of the following syllogistic moods by Venn Diagram:

frfafad ~aragied Qe v derdr/ 3raerar i adieTm = J@ifEt garT HIfae:
6.25

AAA-1

4. (a) Symbolize the following using the suggested notation:
fere aTw 3iehait T JT A g FAe=AT e 1 Fellehrentor HIfST: 2x6=12
Q) Unless you work hard, you will not pass. (W,P)
S T 3T FIT AgAd el I, 3T I gl 9Tl (W,P)
(i) Either Lewis or Clark will perform. (L,C)
T AT JSH AT Felleh TGl &han| (L,C)
(iii) ~ Our country will improve only if we work honestly. (1,H)
GHRT S FERIM shael IS §A SAWCR! & A A (IH)
(iv)  Sheis hardworking and ambitious. (H,A)
dg AgoAd! 3R Agcarhiall g1 (H, A)
(V) Kamini is poor but she is honest. (P,H)
FAAT T ¥ b SHTER #1 (P H)
(vi)  We cannot go to see the cricket match unless we get tickets. (C,T)

gH d¥ do fohohe #AT @ AT ST ohd o9 deh gH feahe ai Ao

Sttt (C, T)

(b) Explain Conjunction Function with example.

HATSTeT helel T 3GIeX 0T Higd SAT&AT Il 6.75
Q5. (a) Use truth table method to determine the validity / invalidity of the following arguments:

frfafed giFaat fr duar /3raydr g aroft Ay & g3 @ fAuiRd fifse: 6x2=12

(i) pvg
po>.p /~.qVv.p



(ip>q
q=p/~pvq

(b) Reduce the following sentences into their standard categorical form:

i@ areal & 3d% AT AIUeT 3HR & defalv:

(1) All children are naughty.
T T RRA §
(i) Every woman is immortal.

g% & 3T g

(iii)  Dogs are mammals.

P T A )

Q6. Explain and illustrate the following informal fallacies:

rATaT@d ATaRe degist i 3aeor afgd arear HifSu:

(1) The Fallacy of Equivocation

FARTH gy

(i)  False Cause
Az sRoTgIY

(i)  Appeal to inappropriate Authority

TG F TATHS eIy

2.25X3=6.75

6.25x3=18.75



